## Item

## **BID ITEMS**

```
005 - ROADWAY - 201E11000 - Clearing And Grubbing - LS
```

- 010 ROADWAY 202E23000 Pavement Removed SQYD
- 015 ROADWAY 202E23000 Pavement Removed, Concrete SQYD
- 020 ROADWAY 202E30000 Walk Removed SQFT
- 025 ROADWAY 202E32500 Curb And Gutter Removed FT
- 030 ROADWAY 202E35100 Pipe Removed, 24" And Under FT
- 035 ROADWAY 202E58100 Catch Basin Removed EA
- 040 ROADWAY 203E10000 Excavation CY
- 045 ROADWAY 203E20000 Embankment CY
- 050 ROADWAY 204E10000 Subgrade Compaction SQYD
- 055 ROADWAY 204E13001 Excavation Of Subgrade, As Per Plan CY
- 060 ROADWAY 204E45001 Proof Rolling, As Per Plan HR
- 065 ROADWAY 204E20001 Embankment, As Per Plan, Using #2 Stone CY
- 070 ROADWAY 204E20001 Embankment, As Per Plan, Using Item 304 CY
- 075 ROADWAY 204E50001 Geotextile Fabric, As Per Plan SQYD
- 080 ROADWAY 204E51001 Geogrid, As Per Plan, For Subgrade Stabilization SQYD
- 085 ROADWAY 607E35000 Fence Removed And Rebuilt FT
- 090 ROADWAY 608E15001 8" Concrete Walk, As Per Plan SQFT
- 095 ROADWAY 608E41001 Concrete Steps, Type B, As Per Plan FT
- 100 ROADWAY 608E52000 Curb Ramp SQFT
- 105 ROADWAY 608E53020 Detectable Warning SQFT
- 110 ROADWAY 653E10001 Topsoil Furnished And Placed, As Per Plan CY
- 115 ROADWAY 69096000 Hydro-Excavating Utility Exposure EA
- 120 EROSION CONTROL 659E10001 Seeding And Mulching, As Per Plan SQYD
- 125 EROSION CONTROL 659E35001 Water, As Per Plan MGAL
- 130 EROSION CONTROL 832E30001 Erosion Control, As Per Plan EA
- 135 DRAINAGE 605E05200 4" Unclassified Pipe Underdrains FT
- 140 DRAINAGE 605E06000 4" Base Pipe Underdrains FT
- 145 DRAINAGE 611E00101 4" Conduit, Type B, As Per Plan, Schedule 40 PVC FT
- 150 DRAINAGE 611E00901 6" Conduit, Type B, As Per Plan, Schedule 40 PVC FT
- 155 DRAINAGE 611E01101 6" Conduit, Type C, As Per Plan, Schedule 40 PVC FT
- 160 DRAINAGE 611E01800 8" Conduit, Type B FT
- 165 DRAINAGE 611E04400 12" Conduit, Type B, 707.65 FT
- 170 DRAINAGE 611E05900 15" Conduit, Type B, 707.65 FT
- 175 DRAINAGE 611E98150 Catch Basin, No. 3 EA
- 180 DRAINAGE 611E98390 Catch Basin, No. 7 EA
- 185 DRAINAGE 611E98470 Catch Basin, No. 2-2B EA
- 190 DRAINAGE 611E99654 Manhole Adjusted To Grade EA
- 195 DRAINAGE 611E99660 Manhole Reconstructed To Grade EA
- 200 DRAINAGE 611E99720 Inspection Well EA
- 205 PAVEMENT 252E01500 Full Depth Pavement Sawing FT
- 210 PAVEMENT 254E01000 Pavement Planing, Asphalt Concrete SQYD
- 215 PAVEMENT 301E56000 Asphalt Concrete Base, PG64-22, (449) CY
- 216 PAVEMENT 304E20000 304 Aggregate Base CY

```
220 - PAVEMENT - 407E20000 - Non-Tracking Tack Coat - GAL
225 - PAVEMENT - 441E70000 - Asphalt Concrete Surface Course, Type 1, (449), PG64-22 - CY
230 - PAVEMENT - 441E70300 - Asphalt Concrete Intermediate Course, Type 2, (449) - CY
235 - PAVEMENT - 441E70500 - Asphalt Concrete Surface Course Type 1, (449), (Driveways) - CY
240 - PAVEMENT - 452E10050 - 6" Non-Reinforced Concrete Pavement, Class QC MS - SQYD
245 - PAVEMENT - 452E16011 - 13" Non-Reinforced Concrete Pavement, Class QC 1P, APP -
250 - PAVEMENT - 609E12001 - Combination Curb And Gutter, Type 2, As Per Plan - FT
255 - PAVEMENT - 609E72001 - Concrete Median, As Per Plan - SQYD
260 - PAVEMENT - SPECIAL-139 - Asphalt Rejuvenating Agent, As Per Proposal Note 139 - SQYD
265 - WATER WORK - 638E10400 - Fire Hydrant Adjusted To Grade - EA
270 - WATER WORK - 638E10800 - Valve Box Adjusted To Grade - EA
275 - WATER WORK - 638E10900 - Service Box Adjusted To Grade - EA
280 - WATER WORK - 638E98000 - Water Work, Misc.: 3/4" Water Service Tap Relocated - EA
285 - LIGHTING - 625E25401 - Conduit, 2", 725.04, As Per Plan - FT
290 - LIGHTING - 625E30712 - Pull Box. 725.08. 32" - EA
295 - LIGHTING - 625E98000 - Lighting, Misc.: Anchor & Down Guy Assembly, 10,000 LBS MIS51 -
300 - LIGHTING - 625E98000 - Lighting, Misc.: Pull Box, 13"X24" (MIS-54) - EA
305 - LIGHTING - 625E98000 - Lighting, Misc.: Street Light Foundation, 6' (MIS-201) - EA
310 - LIGHTING - 625E98000 - Lighting, Misc.: Pole, ALUM, 8' Bracket, T-Base, 30'H MIS-300 - EA
315 - LIGHTING - 625E98100 - Lighting, Misc.: Underground Circuit, 3-Wire (MIS-404) - FT
320 - LIGHTING - 625E98000 - Lighting, Misc.: Pole To Be Wired, 3-Wire (MIS-501) - EA
325 - LIGHTING - 625E98000 - Lighting, Misc.: Controller, 3-Wire, 120V, Pad Mt MIS-603, APP - EA
330 - LIGHTING - 625E98000 - Lighting, Misc.: Luminaire, LED, Cobra Head MIS-800, APP - EA
335 - LIGHTING - 625E98100 - Lighting, Misc.: 2" Conduit, Concrete Encased (MIS-700) - FT
340 - LIGHTING - 625E98100 - Lighting, Misc.: 3" Rigid Steel With 2" Conduit Ins. MIS-702 - FT
345 - LIGHTING - 625E36011 - Underground Warning Or Marking Tape, APP - FT
350 - LIGHTING - 632E70400 - Conduit Riser, 2" Diameter - EA
355 - TRAFFIC CONTROL - 621E00101 - RPM, As Per Plan (2-Way, Yellow/Yellow) - EA
360 - TRAFFIC CONTROL - 621E00101 - RPM, As Per Plan (2-Way, White/Red) - EA
365 - TRAFFIC CONTROL - 630E03101 - Ground Mounted Support, No. 3 Post, As Per Plan - FT
370 - TRAFFIC CONTROL - 630E08600 - Sign Post Reflector - EA
375 - TRAFFIC CONTROL - 630E80101 - Sign, Flat Sheet, As Per Plan - SQFT
380 - TRAFFIC CONTROL - 630E80501 - Sign, Double Faced, Street Name, As Per Plan - EA
385 - TRAFFIC CONTROL - 630E97700 - Signing, Misc.: Street Name Sign Bracket - EA
390 - TRAFFIC CONTROL - 630E85000 - Removal Of Ground Mounted Sign And Storage - EA
395 - TRAFFIC CONTROL - 630E86002 - Removal Of Ground Mounted Post Support And Disposal -
400 - TRAFFIC CONTROL - 644E00105 - Edge Line, 6", As Per Plan (White) - MILE
405 - TRAFFIC CONTROL - 644E00105 - Edge Line, 6", As Per Plan (Yellow) - MILE
410 - TRAFFIC CONTROL - 644E00301 - Center Line, 6", As Per Plan - MILE
415 - TRAFFIC CONTROL - 644E00701 - Transverse/Diagonal Line, As Per Plan - FT
420 - TRAFFIC CONTROL - 644E50300 - Pavement Marking, Misc.: Dotted Line, 18", White - FT
425 - TRAFFIC CONTROL - 644E01301 - Lane Arrow, As Per Plan - EA
430 - TRAFFIC SIGNALS - 632E90101 - Removal Of Traffic Signal Installation, As Per Plan - EA
      - TRAFFIC SIGNALS - 809E60001 - CCTV-IP-Camera System, As Per Plan
440 - RETAINING WALLS - 530E50010 - Special - Retaining Wall - SQFT
445 - MAINTENANCE OF TRAFFIC - 410E14001 - Traffic Compacted Surface, As Per Plan - CY
450 - MAINTENANCE OF TRAFFIC - 614E12420 - Detour Signing - LS
```

- 455 MAINTENANCE OF TRAFFIC 614E11111 Law Enforcement Officer With Patrol Car For
- 460 MAINTENANCE OF TRAFFIC 614E18601 Portable Changeable Message Sign, As Per Plan -
- 465 INCIDENTALS 103E05000 Premium For Contract Performance Bond And For Payment Bond
- 470 INCIDENTALS 108E10000 CPM Progress Schedule LS
- 475 INCIDENTALS 614E11001 Maintaining Traffic, As Per Plan LS
- 480 INCIDENTALS 619E16011 Field Office, Type B, As Per Plan MO
- 485 INCIDENTALS 623E10000 Construction Layout Stakes And Surveying LS
- 490 INCIDENTALS 624E10000 Mobilization LS
- 495 INCIDENTALS SPECIAL-032 Contingency, As Per Proposal Note DOLL

## **BID PROPOSAL SHEETS**

CONSIDERATION FOR MATERIALS (Tangible personal property incorporated into a structure of improvement on and becoming a part of real property in the performing such construction contract): CONSIDERATION FOR OTHER OBLIGATIONS (For other obligations of such construction contract):

## 102 Items

	Strawser Paving Company		
Quantity	Price	Extension	
1.00	\$1,750.00	\$1,750.00	
121.00	\$35.00	\$4,235.00	
106.00	\$35.00	\$3,710.00	
962.00	\$3.50	\$3,367.00	
664.00 273.00	\$6.00	\$3,984.00	
5.00	\$30.00 \$500.00	\$8,190.00 \$2,500.00	
992.00	\$50.00	\$49,600.00	
7.00	\$500.00	\$3,500.00	
2,339.00	\$1.50	\$3,508.50	
150.00	\$75.00	\$11,250.00	
4.00	\$118.00	\$472.00	
75.00	\$95.00	\$7,125.00	
75.00	\$95.00	\$7,125.00	
230.00	\$4.50	\$1,035.00	
230.00	\$4.50	\$1,035.00	
16.00	\$175.00	\$2,800.00	
2,003.00	\$10.80	\$21,632.40	
7.00	\$125.00	\$875.00	
742.00	\$6.00	\$4,452.00	
96.00	\$13.25	\$1,272.00	
29.00	\$125.00	\$3,625.00	
5.00	\$600.00	\$3,000.00	
258.00	\$20.00	\$5,160.00	
1.00	\$1.00 \$1.00	\$1.00	
10,000.00 160.00	\$20.00	\$10,000.00 \$3,200.00	
799.00	\$16.00	\$12,784.00	
50.00	\$5.00	\$250.00	
50.00	\$8.00	\$400.00	
50.00	\$8.00	\$400.00	
11.00	\$80.00	\$880.00	
269.00	\$80.00	\$21,520.00	
127.00	\$95.00	\$12,065.00	
8.00	\$3,500.00	\$28,000.00	
1.00	\$2,700.00	\$2,700.00	
1.00	\$2,400.00	\$2,400.00	
2.00	\$780.00	\$1,560.00	
1.00	\$1,200.00	\$1,200.00	
2.00	\$1,400.00	\$2,800.00	
106.00	\$4.70	\$498.20	
68.00	\$50.00	\$3,400.00	
306.00	\$210.00	\$64,260.00	
396.00	\$85.00	\$33,660.00	

218.00	\$4.50	\$981.00
76.00	\$285.00	\$21,660.00
88.00	\$255.00	\$22,440.00
10.00	\$425.00	\$4,250.00
100.00	\$68.00	\$6,800.00
120.00	\$168.00	• •
		\$20,160.00
706.00	\$25.00	\$17,650.00
150.00	\$120.00	\$18,000.00
1,816.00	\$1.00	\$1,816.00
1.00	\$1,400.00	\$1,400.00
5.00	\$400.00	\$2,000.00
2.00	\$250.00	\$500.00
1.00	\$2,800.00	\$2,800.00
313.00	\$26.50	\$8,294.50
1.00	\$1,850.00	\$1,850.00
1.00	\$1,750.00	\$1,750.00
7.00	\$820.00	\$5,740.00
		\$6,500.00
4.00	\$1,625.00	• •
4.00	\$3,100.00	\$12,400.00
510.00	\$7.75	\$3,952.50
4.00	\$350.00	\$1,400.00
1.00	\$3,550.00	\$3,550.00
4.00	\$700.00	\$2,800.00
30.00	\$25.00	\$750.00
142.00	\$65.00	\$9,230.00
485.00	\$0.25	\$121.25
2.00	\$1,450.00	\$2,900.00
43.00	\$90.00	\$3,870.00
8.00	\$90.00	\$720.00
310.40	\$25.00	\$7,760.00
4.00	\$23.00 \$75.00	· ·
	•	\$300.00
166.60	\$32.00	\$5,331.20
4.00	\$90.00	\$360.00
8.00	\$275.00	\$2,200.00
13.00	\$40.00	\$520.00
10.00	\$40.00	\$400.00
0.07	\$7,700.00	\$539.00
0.16	\$7,700.00	\$1,232.00
0.05	\$16,000.00	\$800.00
160.00	\$8.50	\$1,360.00
92.00	\$3.50	\$322.00
4.00	\$145.00	\$580.00
1.00	\$4,500.00	\$4,500.00
1.00	\$22,000.00	\$22,000.00
304.00	\$16.00	\$4,864.00
30.00	\$68.50	\$2,055.00
1.00	\$13,500.00	\$13,500.00

80.00	\$60.00	\$4,800.00
4.00	\$975.00	\$3,900.00
1.00	\$4,201.00	\$4,201.00
1.00	\$1,000.00	\$1,000.00
1.00	\$10,000.00	\$10,000.00
6.00	\$1,200.00	\$7,200.00
1.00	\$5,500.00	\$5,500.00
1.00	\$21,000.00	\$21,000.00
30,000.00	\$1.00	\$30,000.00
1.00	\$220,000.00	\$220,000.00
1.00	\$479,690.55	\$479,690.55
Totals		\$699,690.55
Agency Estimate		\$40,000.00

Decker Construction (	Company
Price	Extension
фо <b>г</b> оо ос	Φο ποο οο
\$2,500.00	
\$45.53	• •
\$52.99	
\$4.34	
\$10.47 \$50.04	
\$50.91	
\$534.12	· · ·
\$47.75	
\$69.45 \$2.60	
\$2.61 \$2.7.53	· ·
\$37.53 \$114.64	· · ·
\$60.00	
\$50.00	• •
\$2.50	· · ·
\$2.30 \$5.00	
\$3.00 \$254.10	• ,
\$254.10	• •
\$435.88	
\$12.18 \$12.18	• •
\$32.34	· ·
\$100.00	• •
\$850.00	· · ·
\$4.50	· · ·
\$100.00	
\$1.00	· ·
\$26.67	
\$11.75	
\$21.60	· · ·
\$26.28	· ·
\$24.00	
\$58.05	` '
\$129.29	
\$130.57	• •
\$3,335.09	·
\$1,440.24	
\$2,076.24	· ·
\$838.85	· · ·
\$1,656.24	• •
\$558.12	· ·
\$7.20	
\$24.02	
\$227.38	· ·
¢72 66	• •

\$73.66

\$29,169.36

\$4.50	\$981.00
\$255.88	\$19,446.88
\$237.38	\$20,889.44
	• •
\$450.00	\$4,500.00
\$86.44	\$8,644.00
\$118.41	\$14,209.20
\$24.20	\$17,085.20
\$118.49	\$17,773.50
\$1.31	\$2,378.96
\$885.70	\$885.70
\$382.85	\$1,914.25
\$221.42	\$442.84
\$4,152.96	\$4,152.96
\$27.08	\$8,476.04
\$1,889.02	· ·
	\$1,889.02
\$1,785.20	\$1,785.20
\$845.42	\$5,917.94
\$1,673.34	\$6,693.36
\$3,200.42	\$12,801.68
\$7.96	\$4,059.60
\$360.91	\$1,443.64
\$6,751.03	\$6,751.03
\$726.77	\$2,907.08
·	
\$25.83	\$774.90
\$67.38	\$9,567.96
\$0.24	\$116.40
\$1,482.17	\$2,964.34
\$94.50	\$4,063.50
\$94.50	
	\$756.00
\$26.25	\$8,148.00
\$78.75	\$315.00
\$33.60	\$5,597.76
\$94.50	\$378.00
\$288.75	\$2,310.00
\$42.00	\$546.00
\$42.00	\$420.00
\$8,079.75	\$565.58
\$8,079.75	\$1,292.76
\$16,718.10	\$835.91
\$8.92	\$1,427.20
\$3.67	\$337.64
\$152.25	\$609.00
\$4,144.72	\$4,144.72
\$22,579.66	\$22,579.66
\$50.37	\$15,312.48
\$60.00	\$1,800.00
\$10,920.00	\$10,920.00
ψ10,320.00	ψ10,320.00

\$85.00	\$6,800.00
\$1,100.00	\$4,400.00
\$3,000.00	\$3,000.00
\$10,000.00	\$10,000.00
\$5,000.00	\$5,000.00
\$1,500.00	\$9,000.00
\$6,000.00	\$6,000.00
\$10,000.00	\$10,000.00
\$1.00	\$30,000.00
\$260,164.30	\$260,164.30
\$461,374.39	\$461,374.39
	\$721,538.69
	\$40,000.00

Double Z Construction Company	
Price	Extension
\$5,000.00	\$5,000.00
\$15.00	\$1,815.00
\$15.00	\$1,590.00
\$2.00	\$1,924.00
\$6.00	\$3,984.00
\$10.00	\$2,730.00
\$300.00	\$1,500.00
\$40.00	\$39,680.00
\$25.00	\$175.00
\$5.00	\$11,695.00
\$18.00	\$2,700.00
\$160.00	\$640.00
\$48.00	\$3,600.00
\$58.00	\$4,350.00
\$1.50	\$345.00
\$2.50	\$575.00
\$242.00	\$3,872.00
\$11.00	\$22,033.00
\$280.00	\$1,960.00
\$15.00	\$11,130.00
\$35.00 \$95.00	\$3,360.00
\$300.00	\$2,755.00 \$1,500.00
\$300.00 \$18.00	\$4,644.00
\$4,000.00	\$4,000.00
\$1.00	\$10,000.00
\$13.00	\$2,080.00
\$12.00	\$9,588.00
\$13.00	\$650.00
\$14.00	\$700.00
\$12.00	\$600.00
\$45.00	\$495.00
\$125.00	\$33,625.00
\$130.00	\$16,510.00
\$4,500.00	\$36,000.00
\$2,000.00	\$2,000.00
\$2,800.00	\$2,800.00
\$925.00	\$1,850.00
\$1,300.00	\$1,300.00
\$900.00	\$1,800.00
\$5.00	\$530.00
\$80.00	\$5,440.00
\$175.00	\$53,550.00
\$86.00	\$34,056.00

\$3.30	\$719.40
\$235.00	\$17,860.00
\$215.00	\$18,920.00
	· . ·
\$400.00	\$4,000.00
\$90.00	\$9,000.00
\$240.00	\$28,800.00
\$38.00	\$26,828.00
\$240.00	\$36,000.00
\$1.25	\$2,270.00
\$1,000.00	\$1,000.00
· ·	
\$300.00	\$1,500.00
\$250.00	\$500.00
\$2,500.00	\$2,500.00
\$26.29	\$8,228.77
\$1,834.00	\$1,834.00
\$1,733.20	\$1,733.20
\$820.80	\$5,745.60
\$1,624.60	\$6,498.40
\$3,107.20	\$12,428.80
\$7.73	\$3,942.30
\$350.40	\$1,401.60
\$6,554.40	\$6,554.40
\$705.60	\$2,822.40
\$25.08	\$752.40
\$65.42	\$9,289.64
\$0.23	\$111.55
\$1,439.00	\$2,878.00
\$90.00	\$3,870.00
\$90.00	\$720.00
\$25.00	\$7,760.00
\$75.00	\$300.00
\$32.00	\$5,331.20
\$90.00	\$360.00
•	
\$275.00	\$2,200.00
\$40.00	\$520.00
\$40.00	\$400.00
\$7,695.00	\$538.65
	·
\$7,695.00	\$1,231.20
\$15,922.00	\$796.10
\$8.50	\$1,360.00
	• •
\$3.50	\$322.00
\$145.00	\$580.00
\$4,024.00	\$4,024.00
\$21,922.00	\$21,922.00
	·
\$55.00	\$16,720.00
\$70.00	\$2,100.00
\$16,000.00	\$16,000.00
•	. ,

\$50.00	\$4,000.00
\$500.00	\$2,000.00
\$6,000.00	\$6,000.00
\$2,000.00	\$2,000.00
\$7,000.00	\$7,000.00
\$1,300.00	\$7,800.00
\$14,000.00	\$14,000.00
\$40,000.00	\$40,000.00
\$1.00	\$30,000.00
\$459,062.61	\$459,062.61
\$306,042.00	\$306,042.00
	\$765,104.61
	\$40,000.00

Shelly & Sands, Inc.			
Price	Extension		
<b>*</b>	<b>*</b> 40.000.00		
\$10,000.00	\$10,000.00		
\$12.00 \$15.00	\$1,452.00 \$1,500.00		
\$15.00 \$1.50	\$1,590.00 \$1,443.00		
\$2.00	\$1,328.00		
\$40.00	\$10,920.00		
\$225.00	\$1,125.00		
\$45.00	\$44,640.00		
\$50.00	\$350.00		
\$5.00	\$11,695.00		
\$33.00	\$4,950.00		
\$245.00	\$980.00		
\$58.00	\$4,350.00		
\$68.00	\$5,100.00		
\$1.75	\$402.50		
\$2.25	\$517.50		
\$242.00	\$3,872.00		
\$20.00 \$115.00	\$40,060.00		
\$115.00 \$30.00	\$805.00 \$22,260.00		
\$25.00	\$2,400.00		
\$64.00	\$1,856.00		
\$500.00	\$2,500.00		
\$17.75	\$4,579.50		
\$225.00	\$225.00		
\$1.00	\$10,000.00		
\$20.00	\$3,200.00		
\$20.00	\$15,980.00		
\$40.00	\$2,000.00		
\$50.00	\$2,500.00		
\$42.00	\$2,100.00		
\$75.00	\$825.00		
\$95.00 \$120.00	\$25,555.00 \$15,240.00		
\$4,000.00	\$32,000.00		
\$1,750.00	\$1,750.00		
\$2,500.00	\$2,500.00		
\$2,000.00	\$4,000.00		
\$2,200.00	\$2,200.00		
\$1,500.00	\$3,000.00		
\$8.00	\$848.00		
\$80.00	\$5,440.00		
\$175.00	\$53,550.00		
\$95.00	\$37,620.00		

\$3.30	\$719.40
\$235.00	\$17,860.00
\$215.00	\$18,920.00
\$400.00	\$4,000.00
\$72.00	\$7,200.00
\$225.00	\$27,000.00
\$55.00	\$38,830.00
\$192.00	\$28,800.00
\$3.00	\$5,448.00 \$4,500.00
\$1,500.00 \$3,450.00	\$1,500.00 \$10.750.00
\$2,150.00 \$575.00	\$10,750.00 \$1,150.00
\$2,000.00	\$2,000.00
\$25.00	\$7,825.00
\$1,834.00	\$1,834.00
\$1,734.00	\$1,734.00
\$825.00	\$5,775.00
\$1,625.00	\$6,500.00
\$3,110.00	\$12,440.00
\$7.75	\$3,952.50
\$355.00	\$1,420.00
\$6,560.00	\$6,560.00
\$710.00	\$2,840.00
\$25.50	\$765.00
\$67.00	\$9,514.00
\$0.24	\$116.40
\$1,440.00	\$2,880.00
\$90.00	\$3,870.00
\$90.00	\$720.00
\$25.00 \$75.00	\$7,760.00
\$75.00 \$33.00	\$300.00 \$5,331.30
\$32.00 \$90.00	\$5,331.20 \$360.00
\$275.00	\$2,200.00
\$40.00	\$520.00
\$40.00	\$400.00
\$10,085.00	\$705.95
\$10,085.00	\$1,613.60
\$20,870.00	\$1,043.50
\$11.25	\$1,800.00
\$4.60	\$423.20
\$195.00	\$780.00
\$4,025.00	\$4,025.00
\$21,950.00	\$21,950.00
\$125.00	\$38,000.00
\$130.00	\$3,900.00
\$15,500.00	\$15,500.00

\$6,400.00
\$4,000.00
\$6,000.00
\$2,500.00
\$12,500.00
\$21,000.00
\$20,000.00
\$20,000.00
\$30,000.00
\$180,000.00
\$681,644.25
\$861,644.25
\$40,000.00